Pravara Rural Education Society's



COLLEGE OF PHARMACY (FOR WOMEN)



Chincholi, Tal. Sinnar, Dist. Nashik 422103, Maharashtra, India Ph.No. (02551)271178, Fax No. : (02551)271178

Website: www.pravarapharmacy.in Email ID: pravaracopc@yahoo.co.in

Approved by A.I.C.T.E., Pharmacy Council of India, New Delhi and recognized by Govt. of Maharashtra Affiliated to Savitribai Phule Pune University, Pune and S.N.D.T Mumbai

INDEX

Criteria No: 4

Metric No: 4.2.3

File Name: Average annual expenditure for purchase of books/ e-books and subscription to journals/e-journals during the last five years (INR in Lakhs)

Year 2018-19

Sr. No.	Content	Page No.
1.	Audited Statement	1-3
2.	Books Bills	4-24
3.	Journals Bills (Printed)	4-24
4.	e – journals	25
5.	KOHA(AMC)	26-28

KNETE DR. BALASAHEB VIKHE PATIL (PADMA BHUSHAN AWARDEE) PRA	A RURAL EDUCATION SOCIETY
COLLEGE OF PHARMACY, CHINCHOLI (UG)	
AT POST, LONI KD, TAL BAHATA DIST, AHMEDINAC	AD

SR	NAME OF ASSET			C /	FIXED ASS	ETS SCHEDULE AS C	N 31ST MARCH	2019				- 11
NO		Rate	AS ON 31-3-18	ADDITIONS				DEPRECIA	TION		W	Dr. V
Α	IMMOVABLE PROPERTIES			ADDITIONS	SALE/ADJ.	TOTAL 31-3-2019	AS ON 31-3-	18 DURING YEAR	SALFIEDA	TOTAL 31-3-2019	AS ON 31-3-2010	ASON H-
1	Land	0						-				100
2	Buildings	10	17,615,337.00			57.545.007.00	-					
3	Compund Fencing	10				17,515,337.60	12,336,432.4	2 527,890.46		12,884,322.88	4,751,011.12	5,276 904
4	Misc Construction	10					-		-	72	o started	
5	Fipe & Pipe Fitting	10				-		1				1
8	Wells	10				-						1
7	Capital Work in Progress						*				le 4 5	
	Sub Total (A)		17,615,337.00			47.515.007.00				-		
8	FURNITURE & DEAD STOCK	15	4,187,656.20			17,615,337.00	12,336,432.42			12,854,322 98	- 751 014 12	5,27F,964 (
C	OTHER ASSETS					4,187,658.20	3,124,233.56	159,513.40		3,283,746.96	903 90# 2#	1,063,412.6
1	Electrical Installation	15	748.655.00	724,001,40	-		1,0			-		
2	Water Storage Tank	15	7 10.000.00	724,001,40		1,472,656.40	383,226,49	163,414.49		546,640.98	926,7.5 -	565,428.5
3	Vehicles	15				-		-				
4	Library Books	25	3,124,396.00	168,835.00			-					
5	Lab. Fittings & Equipment	15	10,459,861.00	377,916.00		3,293,231.00	2,624,052.29	167,294 68		2,791,346.97	507,884.03	4071040
	Games Equipment	15	10,400,001.00	377,316,00		10,837,777.00	6,707,212.41	619,584 59	-	7,326,797.10	3,510,079,00	3.752 (418 5
	Works Exp. equipment	15										
	Audio Visual Aids	15	64,451.00			01.454.00					- 5	
	Educational Aids	15	04,401.00			64,451.00	9,667.65	8,217,50	-	17,885.15	46,565.85	54,783 3
10	Workshop Equipment	15		-								
	Computer Equipment	25	2,560,446.00	422,569.40		2,983,015.40	2 200 04 2 84	170 000				
	Swimming Pool Equip.	15				2,363,015.40	2,289,917.25	173,274.54		2,463,191.79	218,A23.01	270 525 73
-	Office Equipment	15	84,232.00			84,232.00	50,739.36	5,023 90				
14	Other Equipment	15	1,000.00			1,000.00	927.75	10.84		55,763.26	28,465.74	- 33 492 8
15	Solar Water H.S.	15	694,584.00			694,584.00	395,480.54	45,165.52		938,69	51,41	12.20
	Sub Total (C)		17,737,625.00	1,593,321.80		19,430,946.80	12,459,223.74	1,181,986 16		438,646.06	265,937.66	301, NO3 3E
			-	-	-			1,101,030.16		13.641,209,90	5,789,738 50	-,278,401.25
	GRAND TOTAL		39,540,618.20	1,693,321.80		41,233,940.00	27,919,589,72	1,869,390.02				
	W. W. C.					2 12/	TO A LA	For Kadam & Compa	ny	29,789,279.74	11,844,880.26	11,620 728 00
-						-/9/-	100	Chartered Accountage				
	Place : Loni					(3)	10	\(\mathrea{\pi_0}\)			Mana	rule
-	MSS A WILLIAM Mayor Common State of the Common					12/	101	(U.S. Kadam)			MAKANIA	
-1	DATE - 25-08-2019					12	1.4/	Partner		1	PRINCIP	DEL \
- 1						1.35	MINTE BOIN:	19031065AAAAGK3671				Dharman



PRES College of Pharmacy
Chincholi, Sinnar, Nashik-42210

Principal
College of Pharmacy
Chincholi
Taxas of Pharmacy, Chincholi
Taxas A 422102

PRAVARA RURAL EDUCATION SOCIETY'S

COLLEGE OF PHARMACY, CHINCHOLI POST GRADUATE

			INCHOLI POST GRADUATE		
	INCOME & EXPENDITURE	ACCOUNT FOR	THE YEAR ENDED 31ST MARCH 2019		
EXPENDITURE	AMOUNT	AMOUNT	INCOME	AMOUNT	AMOUNT
To Expenditure In Respect Of Properties	AMOUNT	AMOUNT	INCOME		
Depreciation		381,574.06	INCOME		667022.00
Dep On Movable Property Exps.	E07 000 40	331,314.00	Grant-Earn & Learn Income	51601.00	
Dep On Immovable Property Exps.	527,890.46 146,316.40		Grant-NSS Income	67250.00	
Depreciation on Moveble Property Exp		1356733.00	Grants-Other Income	548171.00	THE RESERVE
Insurance		3,33,21,23,34			
Building & Furniture Insurance	16,331,00				
Employeees Insuance	1,295,164.00				
Student Insurance	4,523.00		Interest		27714
			Interest Received From Bank Income0	27,714.00	
Rep & Maint.				27,714.00	
Rep & Main.Bldg Exp	63,823.25	63823			
To Expenditure On Object Of Trust			Student Fees		
Advertisement Expenses	267,351.85		Fees - Arrears/Dues Income	4863376,00	
Advertisement Recuritment	19,248.16		Fees - Development Income	1172774.00	
Hostel Expenesw	12,712.00		Fees - Tution Income	9430912.00	
Affilation Fees to Uni/Board	147,300.00			3400312.00	
Computersoftwere fees & exps	112,620.00				
Garden Ezxp	75,800.00		Miscellenious Receipts		6305.00
Laboratory Current exp	680,738.49				8285.00
Registration Fee exp	235,545,00				10 10 00 0
School Magazie Exp	11,000.00		Excess Of Expenditure Over Income		4842655.8
Security Exp	28,100.80		Execus of Experience over mount		
Staff Training and Faculty exp	67,584.00				
University Seminar Exp	205,911.04				
Verious Programme exp	132,353.24	573367.04			
Vatercharges Exp	120,500.00			- 7	
Administrative Charges					
Bank Charges exp	39,682.00				
Electricity Charges Exp	41,400.49				
Sweeping Exp	169,367.47			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
journal Exp	1,590.00				
lews Paper Perodical exp	13,570.00				
Niscellenious Exp	43,722.00				
Ostage and Telgram Exp	52,881.65				
anitation Exp	509.00				
- Constant tents	150,334.98				

LORNETE DR. BAL	COLLEGE	OF PHARMACY, CI	AWARDEE)PRAVARA RURAL EDUCATION		
INCON	E & EXPENDITURE A	CCOUNT FOR THE Y	EAR ENDED 31ST MARCH 2019		
INCOM	L & LXI LIBITOTIC		AND		
Supervision & Service Charges Exp.	488,336,00				
Telephone Expenses	29,713.26				
Travelling Expenses	88,324.34				
Printing & Stationery Exp	481,307.77				
Electricity Maint.Exp.	141,008.72				
Repairs & Maint.Of Ground Exp.	60,111.60				
Repairs To Equipment	53,238.58				
Non Teaching Staff Salary	2,825,586.00				
Trust Contribution To Provident Fund - Non Teaching	487,995.00		*		
Teaching Staff	9,511,133.00				
Trust Contribution To Provident Fund - Teaching	60,165.00				
Honorarium	31,146.00				
Salary To Visiting Staff	336,660.00				
Student Expenses	595,871.58				24 042 729 9
Total		21012738.89	Total		21,012,738.8
			As per our report of even date		-
		VE A	DAMA COMPANY Chartered Accountnts		7-7-7-
				MI	ingale
	A PERSON NAMED IN COLUMN	1,2/	(se) (seu)	101	andrece
PLACE - LONI		1	10	DOT	VALANT SA
DATE - 25-08-2019	THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUMN TW	3	(U.S. KADAM)	PRI	
		3	PARTNER	PRES Coll	ed
		Copy	UDIN:-19031055AAAAGK3671	Chincholi, Si	nabi.Nocation



Principal
College of Pharmacy, Chincholi
Tal. Sama: Dec. Hashik 422102

College of Pharmacy (B Pharm), Chincholi

Tal- Sinnar, Dist - Nashik

Journal Voucher

: COPCUG/18-19/JV/MAR/70 : 31-Mar-2019 Dated Particulars Credit Debit LIBRARY BOOKS Dr 40,892.00 (AMT TRANSFER FOR PUCHASE BOOK ASPER B ILL NO 1098,1042 &1206 FROM PRADEEP BBOK) PRADEEP BOOK DISTRIBUTORS(MER) 40,892.00 On Account 40,892.00 Cr (AMT TRANSFER FOR PUCHASE BOOK ASPER BILL NO 1098,1042 &1206 FROM PRADEEP BBOK)

Account of :

AMT TRANSFER FOR PUCHASE BOOK ASPER BILL NO 1098,1042 & 1206 FROM PRADEEP BBOK

₹ 40,892.00

₹ 40,892.00

Authorised Signatory

Verified by

ecked by.



PRADEEP BC

IISTRIBUTORS

Comp

Dealers : Computer, Medic Shop no. 102/3, 1st Floor, Shan B

Ph: 020-24458333 Fax: 2

eering & Management Books omplex, Budhwar Peth, Pune-411002

Email pbd0909@gmail.com

INVOICE

		Date 31-Mar-2019
isigned	INVOICE No.:- IN1206	
ie Principal, College of Pharmacy for womens.	Order No	Date: 31-Mar-2019
nincholi aluka Sinner Dist Nashik IASIK	Delivery by G.R.No Doc through Credit Days Bundles 0	Date 31-Mar-2019
	G.O.C. Rate as applicable from. March 2019	- (17-11)

		Rs - 1.00,Rs -		Tarv	CUP	PRICE (')	GROSS	DIS(%)	AMOUNT
BOOK CODE	Author	TITLE	Pub	-	-		790.00	25 (00)	592
9788123914824 88188419064 9780195637485 978935270498 978812392863 979818627074	Rastog) Gibaldi M Dutta Tripathi Bensan Siddiqui	Bioinformatics Concepts, Skills & 35 Applications, 26 Biopharmaceutics and Clinical 198 Pharmacokinetics, 4th Ed. Botany For Degree Students 188 Essential Medical Pharmacology 1, 8 Industrial Microbiology 144 Inorganic Pharmaceutical Chemistry \$9 Introduction to Spectroscopy 1, 77	CHS BSPPMP Oxford Jaypee Brothers CHS Birta Cengage	2 3 1 3 5 2	Ps. Rs Rs Rs Rs	395.00 550.00 650.00 1,295.00 695.00 350.00 750.00	1100.00 1950.00 1295.00 2085.00 1750.00	25 00 25 00 25 00 25 00 25 00 25 00 25 00 25 00	825 1462 971 1563 1312 1125
978813152916 978818487119 978938830538 978812390754 978812392289	Ahluwaha Rao PG GARRATT	Organic Reaction Mechanisms (10) Pharmacoutical Marketing is India 62 Quantitative Analysis of Drugs \$6 The Theory & Practice of Industrial Pharmacy 46	Nativa BSP CBS CBS	3 3	Rs Rs RS	610.00 1,295.00 795.00 725.00	610.00 2590.00 2185.00 2175.00	25.00 25.00 25.00 25.00	1788 1631
1		Total No. Of Bo	ooks =	27	1-	Total =	18,230.0	0 4,557.50	13,672
			70119			Postage/Fr	eight (+)		0
		Six Hundred Seventy Three Only				Less Adv 7	W. Commission		(
arty Balance: DR E	3,19,19,19					NET	TOTAL	(1)	13,673

ISN CODE: 49010101

3.0 E Terms And Condition :

- 1 Cheque/DD should be issued on PRADEEP BOOK DISTRIBUTORS, paid within 15 days from the bill issued
- 2 BOLA/C No.050620110000344 (IFSC BKID0000505) / HDFC A/C No.042725G0005434 (IFSC HDFC0000427)
- 3. Books supplied are in accordance with the order hence cannot be returned nor exchanged
- 4 Educational Books are exempted from GST
- 5. The prices charged are correct and in accordance with the publishers catalogues and for latest pri

s NOT require actual signature 5. As this is the computer general

Pooja S.

Prepared By



PRES College : Chincholi, Sinnar, 1103 NIK-444

Authorised Signato

PRADEEP BOOK DISTRIBUTORS



PRADEEP BOOK DISTRIBUTORS

Computer Book Shopee

Dealers : Computer, Medical, Engineering & Management Books Shop no. 102/3, 1st Floor, Shan Bramha Complex, Budhwar Peth, Pune-411002

Ph: 020-24458333 Fax: 24458666 Email: pbd0909@gmail.com

INVOICE

The Principal, College of Pharmacy for womens,

Taluka Sinner, Dist Nashik NASIK

onsignee

INVOICE No.:- IN1098

Date 28-Feb-2019

Order No

Date 28-Feb-2019

Delivery by GRNO

Date 28-Feb-2019

Doc through Credit Days

0

Bundles

G.O.C. Rate as applicable from February 2019

	BOOK CODE	Author	TITLE	Pub	QTY	CUR	PRICE (1)	00000		****
N	N4019	Grover	A Practical Book of Pharmaceutical	Nirali			1/10	GROSS	DIS(%)	AMOUNT
	Lagrange Control of the Control of t		Inorganic Chemistry	Suran	5	Rs.	90.00	450.00	25 00	337.5
	9788185731933	Brahmunka	Biopharmaceutics and	Vallabii	5	R5	335.00	1675.00	25.00	F256-2
1	N4010	Pandey	Pharmacokinetics—A Treatise Communication Skills						33911	
	N3941	Pawar	Environmental Sciences	Nirali	3.	Rs	110.00	550.00	25 00	412.5
1	N1667			Nirah	3,	Rs	135.00	675.00	25.00	506.2
1		S SELCUR BAYIN	General Pharmacology	Nirah	10	Rs	120.00	1200.00	23.00	900.0
	9789385999321	Mishra	Inderbit Singh's Textbook of Human	Jaypee	1 ,	As	625.00	625.00	25.00	468.7
			Histology	Brothers	1 3			255000	43.00	33637
	N1308	Naskar	MCQ's In Pharmacy for GPAT	Nimili	3	Rs	340.00	1020.00	25.00	765 0
	9788131704813	Morrison	Organic Chemistry, 7e	Pearson	3	Rs	939.00	1878.00	25:00	1408.5
	N3922	Bhushan	Pharmaceurical Analysis	Nirali	5	Rs	280.00	1400.00	25.60	1056.0
	N1292	Dr. Mahadik	Pharmaceutical Analysis Vol.2	Nirali	3,	Rs	240.00	1200.00	25 00	900.0
1	9788122432732	Kr	Plearmaceutical Deug Analysis	New Age	5	Rs	395.00	1975.00	25 00	1481.2
	N3924	Bothara	Pharmaceutical Inorganic Chemistry	Nirali	3	Rs	125.00	625.00	25.00	168 7
1	61254	Kuchekur	Pharmaceutical furispendence	Nirali	153	Rs	125.00	625.00		468.7
	N1280	Chandrakan i Kokare	PHARMACEUTICAL MICROBIOLOGY	Ninsh	5	Rs	400.00	2000.00	25.60	1500.0
5	N1282	Potdar	Pharmaceutical Quality Assurance	Nicati	10	Rs	350.00	3500.00	25.00	2625 (
1	8(1921	Bhagwat	Pharmaceutics - I	Nirali	5	Rs	260.00	1300.00		975.0
	801291	More	Pharmacetical Analysis Vol. I	Noah	5	Rs	240.00	1200 00		1700 (
	NIGHT	Jain	Practicals in Modern Pisarmaceutical	Neah	5	100000	140.00	766.00	200000	5291
			Instrumental Analysis			100				-
	13926	Kulkarm	Remedial Biology	Nirah	1 8	Rs	140.00	700 00	25 90	528
1	9789352705320	Ghai	Textbook of Practical Physiology	Jaypee Brothers	5	Rs.	595.00	2975.00	A STATE OF THE STA	2201.
1	N1634	Sawana	The Pharmaceutical Sciencs Pharma Pathway	Narati	3	Rs.	750.00	2250.00	25.00	1687

Total Carried Forward



PRES College of Pharmacy Chincholi, Sinnar, Nashik-422102.

71,392.25

1	ноок сове	Author	TITLE	Pub	(2TY 0	RUE	PRUCE ()	GROSS	Disco	AMOUNT
1										
1						- 1				
1						-				
1		1								
							- 3			
Ì									1	
Ì										
						- 1	1			
									1	
					1					
					1					
		1								
					1					
					1					
					1					
1		1			104			30 833 00		- N. A.
13.	ees Rs Twesty	One Thousa	Total No. Of Bo nd Three Hundred Ninety Two Only	OKS-	104		Total = Postage/Fr		7,330.75	21,392 2
	y Balance: DR 6						Lean Advis			0.0
S	N CODE: 4901	10101					1000		(A)	
. 8	S C. E.					Fo	PRADE	EEP BOC	K DISTR	21,392.00 IBUTORS
e	rms And Con	dition :								

Total Broght Forward

Cheque/OD should be issued on PRADEEP BOOK DISTRIBUTORS; paid within 15 days from the bill issued

BOLAC No.0506201100000344 (IFSC BKID0003506) / HDFC A/C No.042725600005434 (IFSC HDFC0000427)

a Books supplied are in accordance with the order hence cannot be returned nor exchanged

Edecational Books are exempted from GST

The prices charged are correct and in accordance with the publishers catalogues and for latest pri-

As this is the computer generated bill, it does NOT require actual signature

Pooja S.

Prepared By



PRINCIPA
PRES College of Phar

PRES College of Pharmacy
Chinchold Signatory
Chinchold Signatory

21 392 25



PRADEEP BOOK DISTRIBUTORS

Computer Book Shopes

Dealers : Computer, Medical, Engineering & Management Books

Strop no. 162/3, 1st Floor, Shan Bramba Complex, Budhwar Peth, Pune-411862

Ph: 020-24458333 Fax : 24458566 Email : pbd0909@gmail.com

INVOICE

Tonsigner The Principal, College of Pharmacy for womens,

Taluka Sinner, Dist Nashik NASIK

INVOICE No.:- IN1042

Date 17-Feb-2019 Date 17-Pub-2019

Date 17-Feb 2019

Order No.

Delivery by GRNo

Doc through Greda Days. Bundles

G O C Rate as applicable from February 2019

No.	BOOK CODE	Author	TITLE	Digity	DEA	CUR	PRICE []	GROSS	D19(%)	AMOUNT
	9789356478528	Raz	Health Eduction & Community	CBS		As I	220.00	960.00	25.00	495.0
	9789387035169	Yalayyaswa my	Pharmacy Human Anatomy & Physiology for Courses in Norsing & Allied Health	CBS	#	Rs	350.00	2800.00	35.00	2100.00
	00812	Agrawal	Sciances Pineracenical Chemistry 41	VDD Fuh	1 2	Rs	350.00	700.00	21 00	525,0
	9388188739981	Roman	Pharmacognosy & Phytochemistry - 1	Caneer		Rs	550.00	560.00	25.00	429.9
	9789382322573	Rangan		Carper	1	Rs	925.00	525.00	25.00	393.7
6	9788123905135	Beckett	Practical Pharmaceutical Chemistry, 4E	CBS	3	Rs	550.00	1650.00	25.00	1217.5
	Q768123905143	Hecken A	Part 1 (Pb) Practical Pharmaceutical Chemistry, 41. Pert 7	CBS	3.	Ps.	525.00	1575.00	25 00	11812

Rupeus - Rs Six Thousand Three Hundred Hisy Three Only

Party Salance: DR 22,027.00 HSN CODE: 49010101

NET TOTAL () For PRADEEP BOOK DISTRIBUTORS

E & O. E

Terms And Condition 1

- I Chaque/DD should be caused on PRADEEP BOOK DISTRIBUTORS, paid within 15 days from the bill ossued
- 2 BOLA/C Na/0506201100000344 (IFSC B/0D0000506) / HDPC A/G No/04272560005434 (IFSC HDFC0000427)
- 3.Books supplied are in socordance with the order hence cannot be returned nor exchanged
- 4 Educational Books are exempted from GST
- 5. The prices charged are correct and in adcordance with the publishers catalogues and for latest pri-
- 8 As this is the computer generated bill it does NOT require actical signature.

Vaijayanti

Prepared By

Checked By



PRES College of Pharmacy

Postage/Freight (+)

Less Adv. (Adj. (-)

Authorised Signature

College of Pharmacy (B Pharm), Chincholi Tal- Sinnar, Dist - Nashik

Journal Voucher

No. : COPCUG/18-19/JV/MAR/8

Dated : 1-Mar-2019

Particulars				Debit		Credi
LIBRARY BOOKS (AMT TRANSFER FOR PURCHASE BOOK FROM PRADEER BOOKS DISTRUBUTORS)	Dr		64,0	61.00		ar
PRADEEP BOOK DISTRIBUTORS(MER) On Account (AMT TRANSFER FOR PURCHASE BOOK FROM PRADEEF BOOKS DISTRUBUTORS)						64,061.0
BOOKS DISTROBUTORS)		8				
					2	
					朴	
*						

Authorised Signatory

₹ 64,061.00

₹ 64,061.00

Checked by:

BOOKS DISTRUBUTORS

The Principal Copc Chincheli Sub! - Regarding Book Bill. With reference to above cited subject R Madam I would like to motice you that in our library purchased the books from Pradeep Book Dipolibutors Pine so their details of bill is us follows, Please grant the permission to pass the Bill. Amount BIN NO. IN 1012 37950/-26111/-IN 1068 Total 64061 yours, faithfully Jong out, Mrs. Walmi SV Librarian 789 17 5 Rs 120.00 maccutics - 1 | Career

PRADEEP BOOK DISTRIBUTORS



Computer Book Shopee

Dealers : Computer, Medical, Engineering & Management Books Shop no. 102/3, 1st Floor, Shan Bramha Complex, Budhwar Peth, Pune-411002

Ph: 020-24458333 Fax: 24458666 Email: pbd0909@gmail.com

INVOICE

The Principal, College of Pharmacy for womens, Chincholi

Taluka Sinner, Dist.Nashik NASIK

Consignee:

8922709431 8131

INVOICE No .:- IN1012

Date 14-Feb-2019

Order No. PO.NO.410

Date 14-Feb-2019

Delivery by G.R.No Doc. through

Date 14-Feb-2019

Credit Days Bundles

G.O.C. Rate as applicable from.....February 2019

S.N	DOOK COD		£ - 95.00,Rs		-	-			4	
1	978938074441	4 Pawar	Aushadhe Ghetana 132	Pub	10.7%	ry. cu	1		DIS(%)	AMOUNT
2	978938232268	9 Pawar	The state of the s	Gautami Prakashan		3 Rs	135.0	0 405.00		303.7
3 4	978818974798		Concepts in Pharmacognosy - 1 167	Career		3 Rs	300.0	0 900.00	26.00	100
4	978812192884	NAME OF TAXABLE PARTY.	Drug Inspector	Birla		3 Rs	550.0		25.00 25.00	675.0
5	9789352704996	6 Tripathi	Elementary Organic Spectroscopy Essential Medical Pharmacology	S.Chand		Rs	525.00		25.00	1237.5i
6	8186548912	Piyush		Jaypee Brothers		Rs	1,295.00	100000000000000000000000000000000000000	25.00	971.25
7	9789382322771	TO YOUR STREET	GPAT Cracker 138	Piyush	3	Rs	1,350.00	4050.00	25.00	*****
8	9789382322498	- Control of the Cont	GPAT: A Companion 16Ed	Career	3	Rs	1,150.00		25.00	3037.50
		1	Handbook Of Experimental Ultraviolet Absorption Spectroscopy	Career	5	Rs	100.00		25.00 25.00	2587,50
9	9789382322832	THE PERSON NAMED IN	From Specioscopy Thorganic Pharms scutical Chemistry						23.00	375.00
10	9789382322542	Pawar \34	Introduction to Pharmacy Instruments	Career	3	Re	260.00		25.00	585.00
11	9780071070898	JURAN PE	Juran's Quality Handbook: The	Career	3	Rs	115.00	345.00	25.00	258.75
			Complete Guide to Performance Excellence	IMPL	3	RS	2,785.00	8355.00	25.00	6266.25
2	9789382322696		Medicinal Chemistry - 1							
3	9789382322764		NIPER : A Companion	Career	3	Rs	150.00	450.00	25.00	337.50
4	9788184871159	Ahluwalia	Organic Reaction Mechanisms \\0	Career	3	Rs	315.00	945.00	25.00	708.75
5	9788188739196	Hanrao 💁]	Pharmaceutical Analysis - I (Practical)	Narosa	4	Rs	575.00	2300.00	25.00	1725.00
5	789382322368	Bhagwat & I	Pharmaceutical Chemistry of Natural	Career	3	Rs	115.00	345.00	25.00	258.75
	9788188739981	- 1 1	roducts	Career	5	Rs	230.00	1150.00	25.00	862.50
	9789382322108		harmacognosy & Phytochemistry - 1	Career	2	Rs	560.00	1120.00		
	OWNERS AND		ractical Handbook of Pharmaceutics - 1	Career	5	Rs	120.00	600.00	25.00	840,00
		A. C.	racticals of Human Anatomy \\\	Career	5	Rs	300.00	1500.00	25.00	450.00
			esearch Methodology 14 PG	N					20.00	1125.00
1	9780702072772	Waugh 70 R	oss & Wilson Anatomy & Physiology	New Age		Rs	350.00	700.00	25.00	525.00
1		in	Health & Illness	Elsevier	1	Rs 1	,080.00	1080.00	25.00	810.00
	200200		ereochemistry 115	New Age	2 1	Rs	475.00	950.00	20.00	-
	200000000000	Stockley St.	ereochemistry of Organic Compounds	New Age		Rs	450.00		25.00	712.50
	- XXVIII.	100	Practions	Pharmaceut ical Press	2 £				25.00 25.00	675.00 11756.25
				real 1.1622		-			ALLO CAS	
			Total Carried Forward		70					7,477.50

	1	Total Broght Forward		70			315		37,477.
CODE	Author	TITLE	Pub	QTY	CUR	PRICE(')	GROSS	DIE	AMOU
9382322405	Patil	The Pharmaceutical Interview Guide	Career	3	Rs	210.00		25.00	47.
//		. 176						20.00	
									9-11
			10 AL		1	1			
	- 59		1			1611 23	100		
				1.	100	diver-		4	
	-					1 -11	214	0/2.	
			LIVE				Ch.	1513	
						150			
				5			~		
STATE BOOK							Pier-		
			100						
1000									
		4 11 1							
100									
i.e.									
es: Rs. Thirty Seve	n Thousand	Total No. Of Boo Nine Hundred Fifty Only	ks =	73	T	otal = 50	,600.0012,	650.00	37,950.00
Balance: DR 15,67	4.00	while Hundred Fifty Only			Po	stage/Freigi	ht (+)		0.00
CODE: 4901010	10.00				Le	ss Adv./Adj.	(-)		0.00
O. E.	71					NETTO	OTAL (')		37,950.00
rms And Condition			No.	F	or	PRADEER	BOOK	DISTRIE	LITOPS

- 1.Cheque/DD should be issued on PRADEEP BOOK DISTRIBUTORS, paid within 15 days from the bill issued
- 2.BOI A/C No:050620110000344 (IFSC: BKID0000506) / HDFC A/C No:04272560005434 (IFSC: HDFC0000427) 3. Books supplied are in accordance with the order hence cannot be returned nor exchanged.
- 4. Educational Books are exempted from GST.
- 5. The prices charged are correct and in accordance with the publishers catalogues and /or latest pri
- 6.As this is the computer generated bill, it does NOT require actual signature.

Pooja S.

Prepared By



Page No. Page 2 of 2 **Authorised Signatory**

PRADEEP BOOK DISTRIBUTORS



Computer Book Shopee

Dealers: Computer, Medical, Engineering & Management Books Shop no. 102/3, 1st Floor, Shan Bramha Complex, Budhwar Peth, Pune-411002

Ph: 020-24458333 Fax: 24458666 Email: pbd0909@gmail.com

INVOICE

Consignee:

The Principal, College of Pharmacy for womens,

Chincholi

Taluka Sinner, Dist.Nashik

NASIK

INVOICE No .: - IN1068

PO.NO.410-10/1/2019

Delivery by G.R.No

Order No.

Doc. through Credit Days

Bundles

G.O.C. Rate as applicable from.....February 2019

Date 21-Feb-2019 Date 21-Feb-2019 Date 21-Feb-2019

No.	BOOK CODE	Author	TITLE	Pub	QTY.	CUR	PRICE (')	GROSS	DIS(%)	AMOUNT
1	9788176603140	Patil	A Practical Book on Pharmaceutical Analysis I 63	Everest	5	Rs	210.00	1050.00	25.00	787.5
2	9788176603201	Patil	A Textbook of Human Anatomy & Physiology I 24	Everest	5	Rs	282.00	1410.00	25,00	1057.5
3	9788176603287	Patil	A Textbook of Human Anatomy & Physiology II 2.6	Everest	5	Rs	237.00	1185.00	25.00	888.7
4	9788176603348	Ingawale	A Textbook of Pathophysiology \5	Everest	2	Rs	363.00	726.00	25.00	544.5
5	9788176603195	Tambe 63	A Textbook of Pharmaceutical Analysis I	Everest	5	Rs	327.00	1635.00	25.00	1226.2
6	9788176603188	Raut	A Textbook of Pharmaceutical Inorganic Chemistry 33	Everest	5	Rs	282.00	1410.00	25.00	1057.5
7	9788126511136	Christian	Analytical Chemistry, 6ed 33	Wiley	1	RS	899.00	899.00	25.00	674.2
8	9788176602839	Hastak	Dosage Form Design 69	Everest	5	Rs	345.00	1725.00	25.00	1293.7
9	9788176602532	Ingale	Human Anatomy & Physiology I 25	Everest	4	Rs	237.00	1185.00	25.00	888.7
10	9780074630501	BADGER	Introduction to Chemical Engineering	TMH 94	5	RS	960.00	4800.00	25.00	3600.0
11	8176601241	Gujar	Mathematics for Pharmacy Students Vol I Calculus 12-5	Everest	5	Rs	435.00	2175.00	25.00	1631.2
12	9788176601551	Gujar	Mathematics for Pharmacy Students Vol II Statistics 125	Everest	5	Rs	435.00	2175.00	25.00	1631.2
13	9789382322436	Khan	Natural Product Chemistry 65	Career	5	Rs	200.00	1000.00	25.00	750.0
14	9789382322252	Yewale	Pharma Competition : A Unique Guide Vol II \30	Career	3	Rs	470.00	1410.00	25.00	1057.5
15	9788176603058	Tambe	Pharmaceutical Analysis V 72	Everest	5	Rs	237.00	1185.00	25.00	888.7
16	9788176602884	Singh	Pharmaceutical Biochemistry 104	Everest	5	Rs	237.00	1185.00	25.00	888.7
17	9789382322054	Kokare	Pharmaceutical Microbiology 192 Experiments & Techniques \ 90P9	Career	10	Rs	245.00	2450.00	25.00	1837.5
18	9788176603232	Chhajed	Pharmaceutical Organic Chemistry I	Everest	5	Rs	237.00	1185.00	25.00	888.7
19	9788176602518	Gujar	Pharmaceutics I 44	Everest	5	Rs	255.00	1275.00	25.00	956.2
20	9788176603089	Gujar	Pharmaceutics II 57	Everest	5	Rs	255.00	1275.00	25.00	956.2
21	9788188739981	Rangari	Pharmacognosy & Phytochemistry - I	Career 56	1	Rs	560.00	560.00	25.00	420.0
22	9788123922300	Gupta R.C	Practical Biochemistry, 5E (Pb) 161	CBS	2	Rs.	295.00	590.00	25.00	442.5
23	9788123905143	Beckett A. H	Practical Pharmaceutical Chemistry, 4E, Part 2	CBS	2	Rs.	525.00	1050.00	25.00	787.5
24	9788176603096	Singh	Sterile Products 5 2	Everest	5	Rs	255.00	1275.00	25.00	956.2

		Total Broght Forward		106					26,111.2
ODE	Author	TITLE	Pub	QTY.	CUR	PRICE (')	GROSS	DIS(%)	AMOUN
			1	AVA S		100		90A -	0-12
			-				Sound!		15.3
							35		
	A COLUMN								
-									
									19
				1					
						100			LC.
			100						
	0.3	तांका अगायक • प्रमुख्यकील जिल्हेरी(कंपम)							
	अपूर्ण के लोग	पान् विद्यासीय , जिल्ह्यों (कम्पम)							
			1						
	न्यस्थित्रहरू	4							
	सीर पान ने	49 - 38							
4- 10	Marine on	1119 25-9.20							
	3000 22	14-2							
	खबुटी गार	49 358	3						
	The state of the								
	District Conf.								
-									
			100						
0									
		Total No. Of Bo	oks =	106	1	Fotal = 3	34,815.00 8	,703.75	26,111.2
ees : Rs. Twenty Six		ndred Eleven Only			F	ostage/Frei	ght (+)		0.0
ty Balance: DR 48,13					L	ess Adv./Ad	j.(-)		0.00
N CODE: 4901010	01					NETT	OTAL (')		26,111.0
& O. E. rms And Condition					For	PRADEE	P BOOK	DISTR	BUTORS

Terms And Condition:

1.Cheque/DD should be issued on PRADEEP BOOK DISTRIBUTORS, paid within 15 days from the bill issued

2.BOI A/C No:050620110000344 (IFSC: BKID0000506) / HDFC A/C No:04272560005434 (IFSC: HDFC0000427)

3. Books supplied are in accordance with the order hence cannot be returned nor exchanged.

4. Educational Books are exempted from GST.

5. The prices charged are correct and in accordance with the publishers catalogues and /or latest pri

6.As this is the computer generated bill, it does NOT require actual signature.

Pooja S.

Prepared By

Checked By

Page No. Page 2 of 2

Authorised Signatory

College of Pharmacy (B Pharm), Chincholi

Tal-Sinnar, Dist - Nashik

Journal Voucher

No. : COPCUG/18-19/JV/MAR/3 Dated : 1-Mar-2019 Particulars Debit Credit LIBRARY BOOKS (AMT PURC HASE FOR BOOKS FORM ROHAN BOOKS) Dr 43,722.00 TO ROHAN BOOK CENTRE(MER) On Account 43,722.00 43,722.00 Cr (AMT PURC HASE FOR BOOKS FORM ROHAN BOOKS ASPER BILL NO RCB 18) A. Glio Mar.

On Account of :

accounts.

3642 N. ..

WORVE I THE STREET

AMT PURC HASE FOR BOOKS FORM ROHAN BOOKS ASPER BILL NO RCB 18

₹ 43,722.00

₹ 43,722.00

BUN R

Authorised Signatory

Verified by

hargal

Checked by:

were a market by any delity District

To, The Secretary Tech. Director Pravara Rural Education Society Tal: Rahata Dist. Ahmanagas

Sub! - About Renewal of Pointed Journal

As per requirement of All India termil for Technical Education New Delhiz PCI we need to subscribe ponted Journals as per the invoice list attached herewith.

The invoice we subscribing those printed journal are received from Rohan Book Confee pune and Sharad Subscri-Pation Agency, sangammer. The accurate Cost terrands these Journals is (43722+950)= 44,672/-

Therefore it is requested to permit us to subscribe party parent this pointed journals, to Account Section.

Thanking you,

@ Rahan Book centre pune & 43722/_

1 Sharad Subscription Agency, bangammer 950 |-

Jours Fuithfully, Compatt (Dr. C. J. Bhangale) Principal

Margall 77/2/19



Dear Sir(s),

PRAVARA RURAL EDUCATION SOCIETY, PRAVARANAGAR

A/P. Loni Kd - 413713, Tal- Rahata, Dist- Ahmednagar.

3uulety Reg. No. Dom. 94 Ah. Nagar: (02422) 273700, 273527, 273703 Fax- 273704

Dt. 13-03-1964 Gram : PRADNYAN

B.P.T. Reg. No. F52 Ah. Nagar Dt. 11-08-1964

ISO 9001-2008

email-purchasepres@pravara.in



PURCHASE ORDER

Ref.No.	PRES/ V.I Print Journal /2018-19	1000 0001	1	5000	
To,	PRES/ V.I Print Journal /2018-19	829 4336	Date	District	11.02.2019
Personal Property and Property	look Court				THE SECOND
Rohan Book Centre, Shop No. 27, Ranjeet Complex,		Delivery Period:		-	As per shuldued
Opp Rai M	lotors, New Mangalwar peth,	Purchase Committee meeting	ANTONE Y	1	< 14.01.2019
Pune -11	mob- 9921()19594	Our Enquiry No	Email	Dt	10.12.2018
Email- tss	mumbal@rediffmail.com	Your Quotation	Empil	100	24.12.2010

Please a range to supply the following material as per the Terms & Conditions mentioned overleaf.

Sr.No	The state of social state		ISSN No	Publication	Subject	Frequency	Date
Α	Prayara Rura College of Pharmac	cy (B.Ph	arm & M.	Pharm), Loni bk Tal - Rab	ata Diet - Ab-	nodunes	Rate
1	science		0250-474	X Medknow publication & medi	P,ceutics	Blomonthly	2940.00
2	Pharma Times	198	0031-684	9 Indian P,centical Asso.	Description	F C COLOR	
3	The Pharma Review	3735		Kangposh Publication	P,ceutics	Monthly	2394.00
4	Indian Jour.Of Chemistry (Sect-A)		0376-471		P.ceutics	Biomonthly	1134.00
VOID !			03/0-4/1	communication & information	Pharm.cher	n Monthly	4032.00
5	Indian Jour.Of Chemistry (Sect-B)	1933	0376-469	g As above	Pharm.eher		
6	Indian journal of Heterocyclic chemistry		0971-162		Pharm.chen	SECULAR PROPERTY AND ADDRESS OF THE PARTY AND	4032.00
7	Inglan journal of natural product a resources (6) Nat Pro Rad)	&	0976-050	communication & information	P,ceuties	Fourtnightly	1176.00
8	Indian Drugs		0019-462	reso Delhi Indian drugs manufacturers	1 1 1 1 1 1	(Allegeration)	
9	Indian journal of experimental Bio		0015 402	Association Mumbai	Med.Chem	Monthly	3570.00
10	Indian Journal of Hospital Pharmac			NISCAIR New Delhi	P,cology	Monthly	3990.00
11	Indian Journal of Pharmacy Practic	-	0019-526)		P,ceutics	Biomonthly	2310.00
		ce (0974-8326		P,ceutics	Quarterly	2940.00
12	Indian journal of Traditional Knowledge		0972-5938	APTI Banglore NISCAIR New Delhi	Chemistry	Quarterly	1176.00
13	Indian journal of pharmaceutical	0	0019-5464	LJ.P.E.r. Banglore	E.r. Banglore P.ceutics		
14	education & Research	6-11			1 iccuties	Quarterly	4116.00
15	Interesting treatment Tech	0	976-7576	Inventi Spreading Knowledge	P,ceutics Biomonth		1134.00
	Intenational our Of P,Cology & Biological Science	0	973-6808	Advences in pharmacology and	Pharmacolo	Tri annual	1428.00
16	International journal of	0	976-5573	taxicology	67		-
philo.	pharmaceutical formulation & Analy	seela	9/6-55/3	International science	Pharm.Anal	Monthly	2730.00 (
7	Juurnal of Chamical Science / F. B.		074 2526	press Gurgaon Hariyana			2/30.001
0	Chemical Science)	-	974-3626	Indian academy of science	Pharm.chem	Monthly	1386.007
8	Research journal of pharmaceutical	00	975-234x				1300.001
	dosage forms & technology	0.	775-234X	Indian journals.com	P,ceutics	Fourtnightly	1890.001
200	Indian journal of pharmacoutics	22	229-7405	Contact to			1030,001
	Institute of Pharmacy (D.Pharm)	Lonik	d Tal D	Serial publication	P,ceutics	Bioannual	2730.00
See !	Indian journa of pharmaceutical	02	50-474x	anata Dist - Ahmednag	ar.	-630k M	-100.00
	science	02	30-4/4X		pharmaceutics	Biomonthly	2940.00
100	Indian journal of pharmacology	02	53-7613				2940.001
		D.Phar	rm Aldad		Pharmacology	Biomonthly	4620.00
	raine of Journal	ISSN	No No	Loni Bk.Tal-Rahata,Dis	t-Ahmednag	ar	4620.00
	* manual Pharmacist	0972-	ALC: N	achention	Subject	Frequency	
	Asian Journal of pharmaceutical	09/2-	7914		Pharmaceutic	Monthly	
29/16/11/02	Research of pharmaceutical	2231-	5683	of pr	S		1848.00/
1	ndian journal of natural product &	0976-0		Johnson 1		Bio-Monthly	1848.00
- 143 Pt					harmacogno		

Sr.No.	Name of Journal	ISSN No	Publication	Subject	Frequency	Rate
- 4	Indian journal of hospital pharmacy	0019-526x	Manipal university	Hospital	Biomonthly	2310.00
5	ludian journal of pharmacology	0253-7613	Medknow	Pharmacology	Biomonthly	4620.00
D	Pravara Riu al Pharmacy College (D				1 something	4020.00
Sr.No.	Name of Journal	ISSN No	Publication	Subject	Frequency	STATE OF THE PARTY
1	Indian journal of pharmaceutical science	0250-474x	Medknow publication & media	P,ceuties	Biomonthly	2940.00
2	Indian journal of pharmaceutical education & Research	0019-5464	I.J.P.E.r. Banglore	P,ceutics	Quarterly	4074.00
3	Journal of hospital pharmacy	-	Indian journal of hospital	- INCOME NO	2000	2710.00
4	Indian journal of natural product	-	Indian journal of natural product	E-WARL CO.		2310.00
5	GMS .	-	UBM MEDICA INDIA	- 1	-	1176.00
6	MIMS		PVT.LTD.	The Fire of		1848.00
E 4	A MARKET STATE OF THE PARTY OF	-	MIMS india			1848.00
Sr.No.	*College of Fharmacy (Womens) (B. Name of Journal	Pharm & M.Pha		ar Dist - Nashik		
1	The state of the s	ISSN No	Publication	Subject	Frequency	ENG.
253	Indian journal of pharmaceutical science	0250-474x	Medicnow publication & media	P,ceutics	Biomonthly	2940.00
2	Indian Drugs	0019-462x	Indian drugs manufacturers Association Mumbai	Med.Chem	Monthly	3528.00
3	Indian journal of pharmaceutical education & Research	0019-5464	LJ.P.E.c. Banglore	P,ceutics	Quarterly	4032.00
4	Indian Jour Of Chemistry (Sect-A)	0376-4710	National institute of science communication	Pharm.chem	Monthly	4032.00
5	Indian Jour Of Chemistry (Sect-B)	0376-4699	As above	Pharm.chem	Monthly	4032.00
6	Indian Journal of Pharmacology	0253-7613	wolter	P.cology	Biomonthly	The second second second
7	Indian Journal of Traditional Knowledge	0972-5938	NISCAIR New Delhi	Chemistry	Quarterly	4620.00 1176.00
8	Indian urnal of natural product & resources	0976-512	CSIR New Delhi	Cognosy	Quarterly	1176.00
9	Inventi Impact:Pharma Analysis and quality assurance	2229-4198	Inventi Publication	Q.A.	Quarterly	1218.00
10	Journal of Intellectual proparty	0975-1076	C.S.I.R. New Delhi	PG	Biomonthly	2730.00
	Indian journal of medical Research	0971-5916	Administrative head Dr. Shrivastava division of publication & Information Indian council of Medical Research		Quarterly	3528.00 (
THE CONTRACT OF THE PARTY OF TH	Current Science	CONTRACTOR OF THE PARTY.	Indian Academy of		Fourtnightly	3360.00
	Indian journal of Expermental Biology		Science,Banglore NISCAR			THE PERSON NAMED IN
14	Medicinal and Aromatic plant abstracts	NAME OF TAXABLE	NISCAR	4	Monthly	4116.00 (
x 1510	4	SELECTION IN			Biomonthly	3234.00
OTE:-	Kindly Submit Invoice to Respect	ive Collage. A	, B , C , D & E (Contact Pe	erson Shel Tu	Total Rs.	-
na abat	y College Co-ordinators – Mob.97	66767702)		13011 31111, 10	Kalle V.B Al	
ie abov	e quoted prices are F.O.R.	At site		TENEDS OF BOIL	official year	
ixes:-		Inclusive			Leafue 4	
A STATE OF THE PARTY OF THE PAR	through: -	ARTEMATIN		NAME OF THE OWNER, OF THE OWNER, OF THE OWNER, OF THE OWNER, OWNER, OWNER, OWNER, OWNER, OWNER, OWNER, OWNER,		Hajd S
yment:		100 % Again	rt D - (DAY IS AN
iscount			st Performa invoice.		Sale State	
2200 -1	the enclosed order acceptance No.	Total Control	Canada San San San San San San San San San Sa	SERVICE TO SERVICE SER	SPA NOREZ IO	Colored Services

PurchaseOfficer

Head of Dept.

Chief Accountant

against this order and return the same to us immediately,

Joint Secretary
Pravara Rural Education Society, Pravaranagar

14/2

-		INVO	ICE			(Original)	
	ROHAN BOOK CENTR		Invoice No.	Dated	d		
	SHOP NO.27. RANJEET	COMPLEX, OPP RAJ MOTORS, RPATGIR CHOWK, PUNE-411011	RBC/18-19/020016 Delivery Note	25-F	eb-201	9 1	60.55
	Maharashtra 111011		Supplier's Ref.	Other	Refere	nce(s)	
ı	E-mail tss_mumbai@redi Buyer		Buyer's Order No.	Dated		1,71,	1
COLLEGE OF PHARMACY(WOMENS)(B.PHARM&M,PHARM) CHINCHOLI, TAL-SINNAR DIST-NASHIK- 422102		Despatch Document No) Dated		Ţ, , , , , , , , , , , , , , , , , , ,	3	
1	Maharashtra-422102		Despatched through	Destir	nation		
	SI lo	Description of Goods	Quantity	Rate	per	Amcunt	
	INDIAN JRNL OF PH PUB-MEDIKNOW PUB (JA	HARMACEUTICALS SCIENCE	1 No	2,940.00	NO	2 940.00	
2	INDIAN DRUGS PUB-IDA (JAN19-DE		1 NO	3,528.00	NO	3 528.00.	Š
, 3		HARMACEUTICAL EDUCATION	V& 1 NO	4.032.00	NO	4,032.00	1
4		HEMISTRY (SECT-A)	1 NO	4,032.00	NO	4,032.00	
5		HEMISTRY (SEC-B)	1 NO	4,032.00	NO	4,032.00	
6	INDIAN JRNL OF PH PUB-WOLTER (JAN1	IARMACOLOGY	1 NO	4,620.00	NO	4,520.00	
7		ADITIONAL KNOWLEDGE	1 NO	1,176.00	NO	1,176,00	
8		TURAL PRODUCT & RESEAR	CH 1 NO	1,176.00	NO	1,176.00	
9	INVENTI IMPACT: PI ASSURANCE PUB-INVENTI (JAN1)	HARMA ANALYSIS & QUALITY	/ 1 NC	1,218.00	NO	1;218.00	
1	JRNL OF INTELLEC PUB-CSIR (JAN19-D	TUAL PROPERTY RIGHTS	1 NC	2,730,00	NO	2,730,00	
1	INDIAN JRNL OF ME PUB-AHDS (JAN19-I	DICAL RESEARCH	1 NC	3,528.00	NO	3,528.00	

continue 1



This is a Computer Generated Invoice

/	INVOICE					(Original)
AOHAN BOOK CENTR SHOP NO.27. RANJEET MANGALWAR PETH, NA MOB NO-9921019594/5	COMPLEX, OPP RAJ MOTORS, RPATGIR CHOWK, PUNE-411011	RBC/18 Delivery	3-19/020016	Dated 25-Fe	b-2019	Lot.
Maharashtra 411011		Supplier	's Ref.	Other	Referenc	e(s) 3
E-mail : tss_mumbai@red Buyer		Buyer's	Order No.	Dated		
COLLEGE OF PHARMACY CHINCHOLI, TAL-SINN DIST-NASHIK- 422102	(WOMENS)(B.PHARM&M.PHARM) AR	Despatci	Document No.	Dated		F
Maharashtra-422102		Despatch	sed through	Destin	ation	
SI io	Description of Goods		Quantity	Rate	per	An olin)
2 CURRENT SCIENCE PUB-IAS (JAN19-DE			1 NO	3,360.00	NO	-3,360.00 h
PUB-NISCAR (JAN1			1 NO	4,116,00	NO	4,116.00
4 MEDICINAL & AROI PUB-NISCAR (JAN1)	MATIC PLANT ABSTRACTS		1 NO	3,234.00	NO	3,234.00

Total 14 NO 43,722.00

Amount Chargeable (in words)

Rs. Forty Three Thousand Seven Hundred Twenty Two Only

Remarks: CHEQUE SHOULD BE DRAWN IN FAVOUR OF "ROHAN BOOK CENTRE" NEFT:-AC/ NAME-ROHAN BOOK CENTRE, AC/NO-35431137198, IFSC-SBIN0009061, BR -PAUD RD(KOTHRUD,PUNE),BANK NAME-STATE BANK OF INDIA

This is a Computer Generated Invoice



College of Pharmacy (B Pharm), Chincholi Tal- Sinnar, Dist - Nashik

Journal Voucher

No. : 32

Dated : 25-May-2018

Particulars	Debit	Credit
LIBRARY BOOKS Dr	20,160.00	
To Pradeep Book Distributers Agst Ref Pradeep 20,160.00 Co		20,160.00
	No Lat	
On Account of :	155	
amt dr for bill no in95 dt 9/5 /18 from pradeep book distrubutores pur library		
book		

- frank

Authorised Signatory

23.5.2018 The Principal Copc, Chricholi Sub: - Regarding New Book Bill PJM adam With reference to above Subject I would like to notice you that our central library pyrchated the new books from prudeep book Dust's hutor Prime so their details. of bill is as hollows. Please grant the permisson to pass the bill -Bill No dt price IN 95 9/5/2018 20,160/-Thenty thousand one hyndred sixt Sanctioned Rs 20160/ thanking Thangale award they Principal Yours hearthbuy 23/8/2018 25 reigh Adj. HSN CODE: 49010101 NETTO

PRADEEP BOOK DISTRIBUTORS



Computer Book Shopee

Dealers : Computer, Medical, Engineering & Management Books Shop no. 102/3, 1st Floor, Shan Bramha Complex, Budhwar Peth, Pune-411002

Ph: 020-24458333 Fax: 24458666 Email: pbd0909@gmail.com

INVOICE

Date 09-May-2018 INVOICE No.:- IN95 Consignee: Date 09-May-2018 The Principal, College of Pharmacy for womens, PO.NO.401/1345 Order No. Chincholi Taluka Sinner, Dist.Nashik Delivery by Date 09-May-2018 G.R.No NASIK Doc. through Credit Days 0 Bundles G.O.C. Rate as applicable from..... May 2018 Rs - 1.00, Rs. - 1.00

S.No.	DOOK CODE	Author	TrT: _E F	Pub	QTY	CUE	PRICE (')	GROSS	DIS(%)	AMOUNT
1 🗸	9788131248850	Satyanaraya	Biochemistr 11	Elsevier	10	Rs	1,325.00	13250.00	20.00	10600.00
2.	9789382322146	na BAJAJ	Clinical Phermacy 18	Career	5	Rs	750.00	3750.00	20.00	3000.00
3 VT	9789382322009	Pawar	Introduction to Pharmaceutics	Career	10	Rs	270.00	2700.00	20.00	2160.00
4	9788123902739	Gupta	Introduction To Pharmaceutics-I 16	CBS	10	Rs.	275.00	2750.00	20.00	2200.00
5~	9788123903392	Gupta	Introduction To Pharmaceutics-Ii,4E 14	CBS	10	Rs	275.00	2750.00	20.00	2200.00
			• माल आवक • सरविकेषीयाक्षेत्रकालिको(के	यस)			2013 2013 3119			
			गाडी नंबर-MH-15 BJ - 975				U III			
			17/5/18 to: 10:0						0 1	
		No.	्रिया विकास - द्रव्या				1000 1			
	0	2 13		217					*	
-			Total No. Of Po	oke =	45	-	Total =	25.200.00	5.040.00	20,160,00

E. & O. E.

Terms And Condition:

- 1.Cheque/DD should be issued on PRADEEP BOOK DISTRIBUTORS, paid within 15 days from the bill issued 2.BOI A/C No:050620110000344 (IFSC: BKID0000506) / HDFC A/C No:04272560005434 (IFSC: HDFC0000427)
- 3. Books supplied are in accordance with the order hence cannot be returned nor exchanged.
- 4. Educational Books are exempted from GST.
- 5.Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.
- 6.As this is the computer generated bill, it closs NOT require actual sign

Pooja S.

Prepared By

Checked By

Page No. Page 1 of 1

Authorised Signatory

For PRADEEP BOOK DISTRIBUTORS







Ref.No.

PRAVARA RURAL EDUCATION SOCIETY, PRAVARANAGAR

A/P. Loni Kd - 413713, Tal- Rahata, Dist-Ahmednagar. Society Reg. No. Born 94 Ah.Nagar. (02422) 273700, 273527, 273703 Fax- 273704

PURCHASE ORDER

Dt. 13-03-1964 B.P.T. Reg.No. F52 ISO 9001-2008

Gram: PRADNYAN Ah.Nagar Dt.11-08-1964



Date



24.01.2018

PRES/ HO/COPW, Sinner / Book/2017-18/ 40 To, Pradeep Book Distributors, Delivery Period: 15 Days 631/32, Budhwar Peth Purchase Committee meeting 13.01.2018 Shop No102/103/104,11 Floor, Our Enquiry No Email 04.01.2018 Dt Shan Bramha Complex Pune - 411002 Ph- 020-24458333. Your Quotation 06.01.2018 Email Dear Sir(s), Please arrange to supply the following material as per the Terms & Conditions mentioned overleaf. Srno Title Author Publisher Edition Qty Rate **Total Rs** Mahadik solhiyonarayan Pharma Analysis- 5 10 118.50 1185.00 2 Pharmaceutical Analysis-1 Kasture Nirali latest 5 158.00 790.00 3 Pharmaceutical Analysis- 2 Kasture Nirali latest 5 158.00 790.00 Research Methodology A step by step guide to 4 Kumar latest 2 434.50 869.00 beginners 5 Rearrangment of Reaction Sangal 5 158.00 790.00 Principles of organic synthesis 6 Norman Nelson 3rd 3 869.00 2607.00 7 Pathophysiology & clinical biochemistry Techmax 237.00 1185.00 5 new Fundamental ofQualitative Techniqes 8 Ramesh Sawant Carrer latest 2 237.00 474.00 9 Industrial pharmacy CVS subramanava latest 5 79.00 395.00 prakasha A texk book of Microbiology 10 Kokare Nirali latest 10 316.00 3160.00 111 Biochemistry ~ Satanarayana latest 10 774.20 7742.00 Vallabh Physical pharmacy 12 Subramanayam latest 5 276.50 1382.50, prakashan 13 A texk book of medical chemistry vol 1 &2 latest Algarswamy CBS 414.75 2073.75 14 Medical pharmacology vol 1&2 Kadam mahadik Nirall latest 10 395.Q0 3950.00 Pharmacology 15 Bele v Carrer latest 10 197.50 1975.00 16 Pharmaceutics 1 & 2 V Guota CBS latest 10 213.30 2133.00 17 Forensic pharmacy Kuchkar Nirali latest 10 355.50 3555.00 18 Clinical pharmacy V Bajaj Tipnis Carrer latest 592.50 2962.50 5 Tutorial pharmacy 19 Carter S J CBS latest 5 316.00 1580.00 pharmaceutical biochemistry Dr sanjay sawant Techmax latest 5 237.00 1185.00 Industrial pharmacy 21 Lacman CBS latest 5 553.00 2765.00 22 Pharmaceutics formulation M Bele Carrer latest 5 237.00 1185.00 Practical human Anatomy & physiology Kale & Kale 23 Nirali • latest 5 118.50 592.50 Practical pharmacognosy 24 Khandelwal Nirali latest 5 197.50 987.50 25 A text book of Instrumntal Analysis Mahajan 474.00 4740.00 latest 10 Marcel 26 GMP for pharmaceuticals Sidney H W 5 3160.00 3160.00 dekker se Practical book of Microbiology 27 Kokare Nirali latest 10 142.20 . 1422.00 Total Rs. 55635.77 NOTE: Please send the material & Bill in the name of, Principal Collage of Pharmacy (Womens) Mohu, Tal Sinner . Dist - Nashik. The above quoted prices are F.O.R. At site , Loni Taxes :-Inclusive. Delivery through: Payment: After receipt and approval of the Book Within 30 Days. Discount Rlease sign the enclosed order acceptance No. against this order and return the same to us immediately, 5/1/18 Purchase

Officer

Head of Dept.

Accountant

Director (Education) Tech. & Non Tech.

Pravara Rural Education Society, Pravaranagar

D:\ 2017-18\purchase Order\ BNM_E

255



"Creating Noble Minds"

PRAVARA RURAL EDUCATION SOCIETY, PRAVARANAGAR

A/P. Loni Kd - 413713, Tal- Rahata, Dist-Ahmednagar.

Society Reg. No. Born 94 Ah Nagar: (02422) 273700, 273527, 273703 Fax- 273704

Dt. 13-03-1964 Gram : PRADNYAN

B.P.T. Reg. No. F52 Ah. Nagar: Dt. 11-08-1964 ISO 9001-2008

email-purchasepres@gmail.com



DURCHASE ORDER

	PUNCHAS SABER									
Ref.No.	PRES/Ho/V.I E-Journal Tech./ 2017-18/443	1022	Date	26.12.2017						
		1043								

To.

DELNET Developing Library	Delivery Period			As per Shudule
Network,	Purchase Committee meeting		Local 11.12.2017	
Janu Campus , Nelson Mandela	Our Enquiry No	Email	Dt	
Road, Vasant Kunj, New Delhi – 110 070 PH 011 – 26742222 / 26741232	Your Quotation / Proforma.	Email	Dt	12.10.201787.12.2017

Dear Sir(s),

Please arrange to supply the following material as per the Terms & Conditions mentioned overleaf.

Sr.	Name of Institute	One line E- Journal	Amount	Total Amount		
No. 1.	Pravara Rural college of Pharmacy, Loni . 1. Annual Institutional Membership Fee for the year 2017-18 Rs.11500.00 2. Admission Fee - Rs.5000.00 3. GST 18%- Rs. 2970.00	1 Package	19470.00	33040.00		
2.	Pravara Rural college of Pharmacy (Womens), Mohu, sinner, Dist-Nashik Annual Institutional Membership Fee for the year 2017-18.(for the period 08	1 Package	13570.00			
1) Prava	Please send the material & Bill in the name of, Pr ra Rural Collage Pharmacy , Loni Bk. Tal – Ra Rural Collage of Pharmacy (Womens), Mohi	u , Tal - Sinner Dist - Nas	ihlk /			
The above quoted prices are F.O.R.		At Site, Including GST.				
Taxes :-						
Delivery through: -		100 % Against Performa invoice. (Sr.No -2 After Subcription				
Payment:-		Period May 2018).				
		*				
		One year against this order and return the same to us immediately,				
Validit	y:- sign the enclosed order acceptance No	against this order and	return the same to u	is illimitediately,		
Dloase s	ien the enclosed order acceptance					

Purchase **afficer**

Head of Dept.

Director (Education) Tech. & Non Tech.

Prayara Rural Education Society, Prayaranagar

PRES College of Pharmacy Chinchels Sinnar, Nashik 422102

Chief 1 1 18

Accountant

Date: 7/3/2019

To,
The Director Education / Secretary
(Technical & Non Technical Colleges)
Prayera Rural Education Society
A/p-Loni Tol-Rahata Dist-Ahmednagar

Sub: - Regarding payment of KOHA Library software AMC charges for the year April 2019 to March 2020

Ref: -KOHA: 2018-2019: QTN-03167-1Dated-06/3/2019

Respected Sir.

With reference to the above mentioned subject, all the technical institute: under Pravara Rural Education Society are using the KOHA Library software in their institute from the year March 2015. As per our purchase order, they charge Rs 0.80/- paisa per book .ecord, per year as MC charges.

Therefore for the current year from April 2019 to March 2020, we have to pay Rs. 1, 38,936/- to them. I have divided the amount as per the each institute's book record.

I am attaching all necessary documents such as KOHA Library Software AMC Bill, Bifurcation of amount according to institute, Purchase Order for further Bill process.

Pravara Rural Engineering College ,Pravaranagar Sir Visvesvaraya Memorial Engineering College	Prayara Rural College of Architecture Sinner
Chincholi, Nashik,	College of Agricultural Biotechnology, Loni
Dr Padmashri Vikho patil poly college loni	College of Agriculture , Loni
pravara rural pharmicy college Ioni	Institute of Pharmacy ,loni
pravara rural pharmucy college Sinner (Women's)	pravara rural pharmacy college(Diploma) lon'
Pravara Rural Collet e of Architecture Loni	College of Pharmacy (Diploma)Chincholi

Yours faithfully,

(Dr. A.B. Pt 'ar)

Coordinator KOHA Software

Librarian, ACS Satral

Approved more trives of

Librarian, ACS Satral

Approved more trives of

Enclosed-

KOHA Library Software AMC Bill

2. Bifurcation according to institute

3. Purchase Order

4.PREC, permission Letter for All amount credited

PRINCIPAL

pers College of Pharmacy Chincholi, Sinnar, Nashik 422102



Informatics Publishing Limited

No. 194, R.V. Road, P.B. No. 400

Basavanagudi, Bangalore-560 004, India

Tel: +91-80-40387777 Fax: +91-80-40387600

Email: Info@informaticsglobal.com

CIN: U72200KA2006PLC040186 / GSTIN: 29AACCT4 196Q

www.informaticsglobal.com

Kind Attention

Quotation

QTN-03167-1

Pravara Rural **Customer Name**

Education Society

Date

06-03-2019

Mr Pawar A

Address

Pravarnagar At Post

Tal Rahata

Loni

Maharashtra

413713 India

Email:

principal@pravaraengg.org.i

Sr	item Name	Description	Quantity	Rate	Amount
1	Koha	Koha Annual Maintenance Charges (AMC)	Nos 1	₹ 117,742.00	
7.285	71-71-71-1-1				

Total IGST @ 18% ₹ 21,193.56

Grand Total

136,135.56

In Words

INR One Lakh, Thirty Eight Thousand, Nine Huncred And Thirty Five and Fifty Six Paisa only.

Terms & Conditions:

Kindly confirm your acceptance of T&C with P.O. (Purchase Order). No comment on the matter will be treated as

1. SUPPORT

- Annual Maintenance Contract (AMC) is initially for one year. AMC can be extended for further year: at renewal prices in those years. One year support includes unlimited telephonic/email support.
- . To review current default capabilities of the software Koha, it is mandatory to visit Koha community to review the documentation at following link https://koha-community.org/documentation/
- To report a technical problem/issue, the Institution should register the same through email at support@informaticsglobal.com. Informatics will respond to any technical issue within 24 hours of email request. Informatics will provide support and strive to resolve technical issue at the earliest. Time span
- Informatics support timing is from Monday to Friday: 9:00 AM to 6:00 PM on all Company working errys. An e-mail registering a new complaint received after 5:30 PM shall be taken up for resolution on the next

This is computer generated document. No signature is required of Price

Page 1 of 3

Chincholis

r.o	Name Of The Institute	KOHA Book Records on cloud	AMC Charges Rate0.80Paisa per Records as per purchase Order	Total AMC charges Amount	GST @ 18 %	Total Charges Per College
l	Pravara Rural Engineering College ,Pravaranagar	60116	0.80	48093	8657	56750
2	Sir Visvesvaraya Memorial Engineering College Churcholi, Nashik,	32941	0.80	26352	4743	
3	Dr Padmashri Vikhe patil poly college loni	20473	0.80	16378	2948	The state of the s
4	pravara rural pharmacy college loni	11235	0.80	8988	1618	The second secon
5 🗸	pravara rural pharmacy college Sinner (Women's)	6639	0.80	5311	956	6267
6	Pravara Rural College of Architecture Loni	1851	0.80	1481	267	1748
7	Pravara Rural College of Architecture Sinner	968	0.80	775	140	915
8	College of Agricultural Biotechnology, Loni	3197	0.80	2558	460	3018
	College of Agriculture ,Loni	3522	0.80	2818	507	3325
10	Institute of Pharmacy ,loni	2160	0.80	1728	311	2039
11	pravara rural pharmacy college(Diploma) loni	2726	0.80	2181	393	2574
12	College of Pharmacy (Diploma)Chincholi	1349	0.80	1079	194	1273
	Total	147177	0.80	1,17,742	21,194	1,38,936
	Education Director/ Secretary		CAFO PRES,Loni	*	Coor Li	Anil Bhanudas unator KOHA brary Software ACSC SATRAL

PRINCIPAL PRES College of Pharmacy
Chincholi, Sinnar, Nasnik 422, 32.